

(

$t_1, t_2, \dots, t_n).$

()

,

.

$$\left. \begin{aligned} \Delta\{ (t) &= r(t) - s(t); \\ s(t) &= K_-(p)K_-(p)\sum(t); \\ \sum(t) &= U(t) + K_\Phi(p)\Delta\{ (t); \\ U(t) &= f[r(t)], \end{aligned} \right\} \quad (2)$$

$\Delta\{ (t) - \quad ; r(t) - \quad ; s(t)$

$- \quad ; K_-(p), K_-(p), K_\Phi(p) -$

$; U(t) - \quad ;$

$f[r(t)] - \quad ; p \equiv \frac{d}{dt}.$

(2)

$$\begin{aligned} [1 + K_\Phi(p)K_-(p)K_-(p)]s(t) &= \\ &= K_-(p)K_-(p)[K_\Phi(p)r(t) + U(t)] \end{aligned} \quad (3)$$

(3),

$$U_E(t) = K_\Phi(p)r(t) + U(t), \quad (4)$$

$r(t)$

.

$$K_\Phi(p)r(t) + U(t) = U_m(t), \quad (5)$$

$U_m(t) -$

(5)

.

$$U(t) = U_m(t) - K_-(p)r(t). \quad (6)$$

(6),

. 1.

U_m

,

,

$K_\Phi(p)$

() $\Phi(U_m, Z),$

[$U_m(t) \neq 0$]

$Z(t) = K_\Phi(p)r(t) \cdot$

$[U_m(t) = 0]$

$U(t).$

.1

$$\left. \begin{aligned} \Delta\{ (t) &= r(t) - s(t); \\ s(t) &= K_-(p)K_-(p)\sum(t); \\ \sum(t) &= K_\Phi(p)\Delta\{ (t) - \Phi(U_m, Z) + U_m(t); \\ \Phi(U_m, Z) &= \begin{cases} Z(t), & U_m(t) \neq 0, t < t_p \\ 0, & U_m(t) = 0, t < t_p \end{cases} \\ Z(t) &= K_\Phi(p)r(t) \end{aligned} \right\} \quad (7)$$

(7)

$U_m(t) \neq 0,$

$$\begin{aligned} [1 + K_\Phi(p)K_-(p)K_-(p)]s(t) &= \\ &= K_-(p)K_-(p)U_m(t) \end{aligned} \quad (8)$$

$U_m(t) = 0$

(7)

$$\begin{aligned} [1 + K_\Phi(p)K_-(p)K_-(p)]s(t) &= \\ &= K_\Phi(p)K_-(p)K_-(p)r(t) \end{aligned}, \quad (9)$$

.

,

(3) . 1

$$\begin{aligned} [1 + K_\Phi(p)K_-(p)K_-(p)]s(t) &= \\ &= K_\Phi(p)K_-(p)K_-(p)[r(t) + U(t)] \end{aligned} \quad (10)$$

$r(t) + U(t) = U_m(t).$

$$U(t) = U_m(t) - r(t). \quad (11)$$

(11),

. 2.

U_m

,

$U(t)$

$r(t)$

$$\Phi(U_m, r) = \begin{cases} r(t), & U_m(t) \neq 0, t < t_p \\ 0, & U_m(t) = 0, t < t_p \end{cases} \quad (12)$$

(. 2)

$[U_m(t) \neq 0]$

$$\begin{aligned} [1 + K_\Phi(p)K_-(p)K_-(p)]s(t) &= \\ &= K_\Phi(p)K_-(p)K_-(p)U_m(t) \end{aligned} \quad (13)$$

(9).

